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Broker.java

import java.util.\ector;
public class Broker

{

Il 3% server [1] 1D 5, M 0 3
private int serverlD;

I ¥ B TE W server {7473 vector 2525

private Vector<Server> server\Vector;



public Broker()

{
serverIlD = 0;
server\Vector = new Vector<Server>();
}
I 7y server $EAE: A broker IZhEE, NEEAS server EE — M 0 IEIET ID
2=
public void Register(Server s)
{
server\Vector.add(serveriD, s);
serverlD++;
}
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public int GetResponseByRequestld(int x, int y, int id)
{
Server s = (Server) server\ector.get(id);
s.GetRequest(x, Y);
return s.SetResponse();
}
}

Server.java
public class Server {

private int firstNum;
private int secondNum;
private int serverlD;
private int rusult;
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public Server(int id)
{

this.serverID = id;
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Il server 3575 request, BIFREUE NP5 55
public void GetRequest(int num1, int numz2)

{

this.firstNum = num1;
this.secondNum = num2;
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I ARYE 1D ] XS B IR 55 v 45 2R, 4521 response
public int SetResponse()
{
if (serverID == 0)
{
rusult = firstNum + secondNum;
return rusult;
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else if(serverlD == 1)
{
rusult = firstNum - secondNum;
return rusult;

¥

else if(serverlD == 2)
{
rusult = firstNum * secondNum;
return rusult;
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else
{
rusult = firstNum / secondNum;
return rusult;

Client.java

import java.awt.GridLayout;

import java.awt.event.ActionEvent;
import java.awt.event.ActionListener;
import java.text.DecimalFormat;

import javax.swing.JButton;
import javax.swing.JComboBox;
import javax.swing.JFrame;
import javax.swing.JLabel;
import javax.swing.JOptionPane;
import javax.swing.JPanel;
import javax.swing.JTextField;



public class Client extends JFrame implements ActionListener

{

/**
*
*/
private static final long serial\VersionUID = 1L;

private int firstNum;
private int secondNum;
private int serverlD;
private int rusult;

private Broker broker;

private JButton submitBtn;
private JButton clearBtn;

private JTextField firtInput;
private JTextField seclnput;
private JTextField displayResult;
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private String[] item = { "addition", "subtraction", "multiplication”,
"division" };

private JComboBox<String> combobox = new JComboBox<String>(item);

public Client(Broker b)

{
this.setTitle("Broker Pattern");

broker = b;
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setLayout(new GridLayout(5, 1));

JPanel panel = new JPanel();
panel.setLayout(new GridLayout(1, 2));

JPanel panel2 = new JPanel();
panel2.setLayout(new GridLayout(1, 2));

JLabel labell = new JLabel("First Number");
firtinput = new JTextField();

JLabel label2 = new JLabel("Second Number");
seclnput = new JTextField();
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panel.add(labell);
panel.add(firtInput);

panel2.add(label2);
panel2.add(seclnput);

JPanel panel3 = new JPanel();
panel3.setLayout(new GridLayout(1, 2));
JLabel label3 = new JLabel("Server");

panel3.add(label3);
panel3.add(combobox);

JPanel panel4 = new JPanel();
panel4.setLayout(new GridLayout(1, 2));
submitBtn = new JButton("Sunmit");
clearBtn = new JButton("Clear");

submitBtn.addActionListener(this);
clearBtn.addActionListener(this);

panel4.add(submitBtn);
panel4.add(clearBtn);

JPanel panel5 = new JPanel();
panel5.setLayout(new GridLayout(1, 2));
JLabel label5 = new JLabel("Result:");
displayResult = new JTextField();
displayResult.setEditable(false);

panel5.add(label5);
panel5.add(displayResult);

add(panel);

add(panel2);
add(panel3);
add(panel4);
add(panel5);
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public void actionPerformed(ActionEvent e)



if (e.getActionCommand() == "Sunmit")

{
try
{
int a = Integer.parselnt(firtinput.getText().trim());
int b = Integer.parselnt(seclnput.getText().trim());
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SetRequest(a, b, combobox.getSelectedIndex());
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int out = GetResponse();
displayResult.setText(Integer.toString(out));
} catch (Exception ex)
{
JOptionPane.showMessageDialog(null,
"Your input should be a type of integer!");
}
}

else if (e.getActionCommand() == "Clear")
{1 E 7 N
firtinput.setText("™");
seclnput.setText("™");
displayResult.setText("™");
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public void SetRequest(int num1, int numz2, int id)

{
this.firstNum = num1;
this.secondNum = num2;
this.serverID = id;

}
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public int GetResponse()

{

rusult = broker.GetResponseByRequestld(firstNum, secondNum, serveriD);
return rusult;
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public static void main(String[] args)

{

Broker b = new Broker();
final Client client = new Client(b);
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int totalServer = client.item.length;
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for (int i = 0; i < totalServer; i++)

{

Server server = new Server(i);
b.Register(server);

¥

client.setVisible(true);
client.setSize(300, 200);
I client.pack(); // B 315 & R/

client.setDefaultCloseOperation(EXIT_ON_CLOSE);
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